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Berdkna procentsatser i decimaler

namn: Datum: Poiing:
1,67 x 60% = 0,73 x40% =
3,69 x20% = 2,58 x20% =
4,81 x 40% = 2,55 %x90% =
3,6 x20% = 6,79 x70% =
7,26 x 70% = 0,97 x 70% =
5,64 x90% = 3,4 x80% =
0, 12 x 40% = 9,7 x70% =
8,52 x 80% = 6,06 % 20% =
1,71 x50% = 6,97 x 80% =
7,61 x 80% = 3,82 % 60% =

www.snowmath.com


https://www.snowmath.com

Berékna procentsatser i decimaler

1,67 x 60% = 1.002

3,69 x20% = 0.738

4,81 x40% = 1.924

3,6 x20% =0.72

7,26 x70% = 5.082

5,64 x90% = 5.076

0, 12 x 40% = 0.048

8,52 x 80% = 6.816

1,71 x50% = 0.855

7,61 x 80% = 6.088

Datum:

0,73 x 40% = 0.292

2,58 x20% =0.516

2,55 %x90% = 2.295

6,79 x70% = 4.753

0,97 x70% = 0.679

3,4 x80% =2.72

9,7 x70% = 6.79

6,6 x 20% = 1.32

6,97 x 80% = 5.576

3,82 x60% = 2.292
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Poéng:
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